GSE Precalculus Worksheet Law of Cosines Practice

Solve each triangle. Round all measures to the nearest tenth (one decimal place).
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3, InAABCa=14cmb=9cm,andc=6 cm
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5. InAQRP, g=12ft,p=28ft,andr =18 ft
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For #6 and #7, “ind the area of the triangle to the nearest tenth of a square unit using Heron’s Formula.
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7. In ACAB,b=14km,c=7km,anda=15km &

S & o [ FIHE) =12

A‘:\J\B(J-D(\\)('%)
A~ HE.7 Kim >~

8. let’stryitagain. .

A horeowner has a property in the shape of auadrilateral labeled ABCD. Side AB is 70 feet, side BC is
50 feet, and side CD is 100 feet. Angle B is 119° and angle C is 78°. Find the area of this property.
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